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Question Id : 92090628442 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

As he hailed India’s bilateral ties with Australia as having entered the T20 mode,
PM Modi in a meeting with his counterpart, Anthony Albanese, on Wednesday again
raised the issue of attacks on Hindu temples and activities of Khalistan separatists in
Australia. Any attempt to harm India — Australia ties was unacceptable, Modi said.
Albanese assured him of strong action against the perpetrators.

Modi rounded off his three-nation tour with a bilateral meeting with Albanese,
and a business round table that saw the two sides signing a migration agreement for
two-way mobhility of students and business professionals, and another deal to set up a
task force for green hydrogen cooperation. The leaders also discussed many regional
and global issues, including the threat posed by China’s assertiveness in the Indo-

Pacifie, Russia-Ukraine war, Quad cooperation and ways to address problems faced by
the Global South.

Thanking Albanese for the steps taken to prevent attacks on Hindu temples,
Modi said the former assured him once again that he would continue to take strict
action against the perpetrators.

Sub questions

Question Number : 1 Question Id : 92090628443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out one word for the following phrase from the following options.

‘Commit a harmful, illegal or immoral action’

(1) Perpetual (2) Persiflage
(3) Perpetrate (1) Pernicious
Options :

920906112401. 1
920906112402. 2
920906112403. 3
920906112404. 4

Question Number : 2 Question Id : 92090628444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement I : Albanese assured him of no strong action against the
perpetrators.

Statement II : PM Modi in a meeting with his counterpart Anthony Albanese
on Wednesday again raised the issue of attacks on Hindu
temples and activities of Khalistan separatist in Australia.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement I and Statement Il are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement II is true

Options :

920906112405. 1
920906112406. 2
920906112407. 3
920906112408. 4

Question Number : 3 Question Id : 92090628445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate words from the options given below:

Modi rounded his three nation tour a bilateral meeting with Albanese,
and a business round table that saw the two sides signing a migration agreement
two way mobility of students and business professionals.

(1)  off, with, for (2) off, for, from
(3)  off, with, in (4) off, on, in
Options :

920906112409. 1
920906112410. 2
920906112411. 3
920906112412. 4

Question Number : 4 Question Id : 92090628446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Antonym of the term ‘assertive’ is:

(1) Asgsist (2) Assess
(3) Retiring (1) Associate
Options :

920906112413. 1
920906112414. 2
920906112415. 3
920906112416. 4

Question Number : 5 Question Id : 92090628447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What issue was raised by PM Modi with his counterpart, Anthony Albanese
according to this paragraph?

(1) Global Warming
(2) Attacks on Hindu temples in Australia
(3 Indio — Pak war

(4) Natural Disaster

Options :

920906112417. 1
920906112418. 2
920906112419. 3
920906112420. 4

Question Id : 92090628442 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



As he hailed India’s bilateral ties with Australia as having entered the T20 mode,
PM Modi in a meeting with his counterpart, Anthony Albanese, on Wednesday again
raised the issue of attacks on Hindu temples and activities of Khalistan separatists in
Australia. Any attempt to harm India — Australia ties was unacceptable, Modi said.
Albanese assured him of strong action against the perpetrators.

Modi rounded off his three-nation tour with a bilateral meeting with Albanese,
and a business round table that saw the two sides signing a migration agreement for
two-way mobhility of students and business professionals, and another deal to set up a
task force for green hydrogen cooperation. The leaders also discussed many regional
and global issues, including the threat posed by China’s assertiveness in the Indo-
Pacifie, Russia-Ukraine war, Quad cooperation and ways to address problems faced by
the Global South.

Thanking Albanese for the steps taken to prevent attacks on Hindu temples,
Modi said the former assured him once again that he would continue to take strict

action against the perpetrators.

Sub questions

Question Number : 1 Question Id : 92090628443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out one word for the following phrase from the following options.

‘Commit a harmful, illegal or immoral action’

(1)  Perpetual (2) Persiflage
(3) Perpetrate (1) Pernicious
Options :

920906112401. 1
920906112402. 2
920906112403. 3
920906112404. 4

Question Number : 2 Question Id : 92090628444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements :

Statement I  : Albanese assured him of no strong action against the
perpetrators.

Statement II : PM Modi in a meeting with his counterpart Anthony Albanese
on Wednesday again raised the issue of attacks on Hindu
temples and activities of Khalistan separatist in Australia.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement I and Statement Il are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement II is true

Options :

920906112405. 1
920906112406. 2
920906112407. 3
920906112408. 4

Question Number : 3 Question Id : 92090628445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate words from the options given below:

Modi rounded his three nation tour a bilateral meeting with Albanese,
and a business round table that saw the two sides signing a migration agreement
two way mobility of students and business professionals.

(1)  off, with, for (2) off, for, from
(3) off, with, in (4) off, on, in
Options :

920906112409. 1
920906112410. 2
920906112411. 3
920906112412. 4

Question Number : 4 Question Id : 92090628446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Antonym of the term ‘assertive’ is:

(1) Assist {2) Assess
(3) Retiring (1) Associate
Options :

920906112413. 1
920906112414. 2
920906112415. 3
920906112416. 4

Question Number : 5 Question Id : 92090628447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What issue was raised by PM Modi with his counterpart, Anthony Albanese
according to this paragraph?

(1) Global Warming

(2)  Attacks on Hindu temples in Australia

(3) Indio — Pak war

(4) Natural Disaster

Options :

920906112417. 1
920906112418. 2
920906112419. 3
920906112420. 4

Sub-Section Number : 2
Sub-Section Id : 920906911
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090628448 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fill in the blanks with appropriate adjective clause
“The exam I didn’t study for, was absolutely tough”.

(1)  who (2) that
(3) while (1) since



Options :

920906112421. 1
920906112422. 2
920906112423. 3
920906112424. 4

Question Number : 6 Question Id : 92090628448 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate adjective clause

“The exam I didn’t study for, was absolutely tough”.
(1) who (2) that
(3) while (1) since
Options :

920906112421. 1
920906112422. 2
920906112423. 3
920906112424. 4

Question Number : 7 Question Id : 92090628449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose one word for the following part.

“An elaborate and spectacular entertainment”.

(1) Extravagant (2) Extracorporeal
(3 Exotoxin (4) Extravaganza
Options :

920906112425. 1
920906112426. 2
920906112427. 3
920906112428. 4

Question Number : 7 Question Id : 92090628449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose one word for the following part.

“An elaborate and spectacular entertainment”.

(1) Extravagant (2) Extracorporeal
(3) Exotoxin (4) Extravaganza
Options :

920906112425. 1
920906112426. 2
920906112427. 3
920906112428. 4

Question Number : 8 Question Id : 92090628450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions.

Electronics also take circuitous routes the Russian market. One report
estimated that such “parallel imports” laptops, tablets and smartphones totaled
$1.5 billion last year. At the same time, chinese cars and electronics have flooded
__the Russian market.

(1) from, of, in (2) to, in, of
(3) to, of, into (4) from, of, in
Options :

920906112429. 1
920906112430. 2
920906112431. 3
920906112432. 4

Question Number : 8 Question Id : 92090628450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blanks with appropriate prepositions.

Electronics also take circuitous routes the Russian market. One report
estimated that such “parallel imports” laptops, tablets and smartphones totaled
$1.5 billion last year. At the same time, chinese cars and electronics have flooded
__the Russian market.

(1) from, of, in (2) to, in, of
(3) to, of, into (4) from, of, in
Options :

920906112429. 1
920906112430. 2
920906112431. 3
920906112432. 4

Question Number : 9 Question Id : 92090628451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
nvaten Last 1 with Last 1l :

List I (Word) List I1 (Synonym)
(A) Deadly (I) Death
(B) Decipher (II) Calumny
(C) Defamation (II1) Interpret
(D) Demise (IV) Lethal

Choose the correct answer from the options given below:

(1) (A)-D), (B)-(1), (C)-(I1D), (D)-(IV)
(2)  (A)-ID), (B)-D), (C)-(IV), (D)-(1IIL)
3)  (A)-(ID, (B)-(IV), (C)-(I), (D)D)
(1) (A)-IV), (B)-(1D), (C)-(1D), (D)-(D)

Options :

920906112433. 1
920906112434. 2
920906112435. 3
920906112436. 4

Question Number : 9 Question Id : 92090628451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Matcn 1ast 1 with 148t 11 °©

List I (Word) List I (Synonym)
(A) Deadly (I) Death
(B) Decipher (II) Calumny
(C) Defamation (II1) Interpret
(D) Demise (IV) Lethal

Choose the correct answer from the options given below:

(1) (A)-D), (B)-(11), (C)-(I1I), (D)-(IV)
(2)  (A)ID), (B)-M), (C)-(IV), (D)-(1L)
(3)  (A)-(ID), (B)-(IV), (C)-(I), (D)-(IT)
(4)  (A)-(IV), (B)-(1D), (C)-(1D), (D)-(D)

Options :

920906112433. 1
920906112434. 2
920906112435. 3
920906112436. 4

Question Number : 10 Question Id : 92090628452 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II :

List I (Word) List IT (Antonym)
(A) Triumph ()  Humble

(B) Timid (II) Failure

(C) Deficit (I1I) Bold

(D) Arrogant (IV) Surplus

Choose the correct answer from the options given below:

(1) (A)-D), (B)-), (C)-(IV), (D)-(I1I)
(2)  (A)-(IV), (B)-1D), (C)-(I), (D)-(III)
(3)  (A)-(ID), (B)-(1I), (C)-(IV), (D)-(I)
(1) (A)-D), (B)-(ID), (C)-(III), (D)-(1IV)

Options :

920906112437. 1
920906112438. 2
920906112439. 3
920906112440. 4



Question Number : 10 Question Id : 92090628452 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List I1:

List I (Word) List Il (Antonym)
(A) Triumph () " Humble

(B) Timid (I) Failure

(C) Deficit (I1T) Bold

(D) Arrogant (IV) Surplus

Choose the correct answer from the options given below:

(1)  (A)-(ID), (B)-(D), (C)-(IV), (D)-(IIL)
(2)  (A)-(IV), (B)-(ID), (C)-(I), (D)-(1IT)
(3)  (A)-(ID), (B)-(IID), (C)-(IV), (D)-(I)
(4)  (A)-(D), (B)-(IL), (C)-(I1I), (D)-(IV)

Options :

920906112437. 1
920906112438. 2
920906112439. 3
920906112440. 4

Question Number : 11 Question Id : 92090628453 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If X—_dl =5, then the value of ‘I+l2 18
X X
() 19 (2) 17
(3) 14.5 (1) 15
Options :

920906112441. 1
920906112442. 2
920906112443. 3
920906112444. 4



Question Number : 11 Question Id : 92090628453 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If X—_dl =5, then the value of ‘I+i2 is:
X X
(Iy 19 (2) 17
(3) 14.5 (49 15
Options :

920906112441. 1
920906112442. 2
920906112443. 3
920906112444. 4

Question Number : 12 Question Id : 92090628454 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If AD = CD = BD, then the area of the shaded region OACBO 1s:

[ Given, 'JT=£]
\ I

«—— 3 —>

161 81
] 4 il W5 2 2 2
(1) 28 m (2) 12 m
(3) —E? m* {(4) 6.5 m*

Options :



920906112445. 1
920906112446. 2
920906112447. 3
920906112448. 4

Question Number : 12 Question Id : 92090628454 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If AD = CD = BD, then the area of the shaded region OACBO is:
( Given, = E]
\ Fi

—3Im —>
I_.I'\

A= 0

Pk _._- = B\f
161 81
il . | ] e
(1) 5g (2) T
(3) "E m? (4) 6.5 m?

Options :

920906112445. 1
920906112446. 2
920906112447.3
920906112448. 4

Question Number : 13 Question Id : 92090628455 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Two pipes can fill a tank separately in 20 minutes and 60 minutes respectively.
What portion of the tank can be filled by both pipes in 12 minutes?

(1)  60% (2) 75%
(3)  80% (4) 85%

Options :

920906112449.
920906112450.
920906112451.
920906112452.

AW N~

Question Number : 13 Question Id : 92090628455 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two pipes can fill a tank separately in 20 minutes and 60 minutes respectively.
What portion of the tank can be filled by both pipes in 12 minutes?

(1)  60% (2) 75%
(3) 80% (4) 85%

Options :

920906112449.
920906112450.
920906112451.
920906112452.

AW N =

Question Number : 14 Question Id : 92090628456 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two trains A and B travelling on the same track at 108 km/h and 72 km/h will cross
a pole in 60s and 120s respectively. The ratio of their length 1s:

(1) S (2) 2:3
(3) 3:2 (4 3:4
Options :

920906112453. 1
920906112454. 2
920906112455. 3
920906112456. 4



Question Number : 14 Question Id : 92090628456 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two trains A and B travelling on the same track at 108 km/h and 72 km/h will cross
a pole in 60s and 120s respectively. The ratio of their length 1s:

(1) 1:8 2) 2:3
(3) 3:2 (4 3:4
Options :

920906112453. 1
920906112454. 2
920906112455. 3
920906112456. 4

Question Number : 15 Question Id : 92090628457 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A pizza can be equally distributed among 8 kids and they can eat their individual
shares in 45 min. How many pizzas can be eaten by 12 kids in 2 hr. 30 minutes:

(1) 8 (2) T
(3) 6 (4) 5
Options :

920906112457. 1
920906112458. 2
920906112459. 3
920906112460. 4

Question Number : 15 Question Id : 92090628457 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A pizza can be equally distributed among 8 kids and they can eat their individual
shares in 45 min. How many pizzas can be eaten by 12 kids in 2 hr. 30 minutes:

(1) 8 2) 7
3) 6 1) 5

Options :



920906112457. 1
920906112458. 2
920906112459. 3
920906112460. 4

Question Number : 16 Question Id : 92090628458 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the odd one among the following:

A4+ 25 /36 + 64
100 25
(3) —— (4)
\J49 +169 9+49
Options :

920906112461. 1
920906112462. 2
920906112463. 3
920906112464. 4

Question Number : 16 Question Id : 92090628458 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the odd one among the following:

1y 2 &
4425 736 + 64
100 25
(3) ——_— (4)
49+ 169 49+ 49
Options :

920906112461. 1
920906112462. 2
920906112463. 3
920906112464. 4

Question Number : 17 Question Id : 92090628459 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



There is a certain relationship between two groups of letters. One set of letters is
given on left hand side of the symbol : : . Choose the correct alternative which will
establish the similar relation with the group of letters given on other side of the
symbol : : -

SUWY : LPTX : : PRTV :

(1) IMQU (2) INRU
(3) INQU (4) IMRU
Options :

920906112465. 1
920906112466. 2
920906112467. 3
920906112468. 4

Question Number : 17 Question Id : 92090628459 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

There is a certain relationship between two groups of letters. One set of letters is
given on left hand side of the symbol : : . Choose the correct alternative which will
establish the similar relation with the group of letters given on other side of the
symbol : : -

SUWY : LPTX : : PRTV :

(1) IMQU (2) INRU
(3) INQU (4) IMRU
Options :

920906112465. 1
920906112466. 2
920906112467. 3
920906112468. 4

Question Number : 18 Question Id : 92090628460 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find the next number in the given series :
17,19, 23,29, 31, 37,
(1) 40 (2) 42
(3 41 (1) 43



Options :

920906112469. 1
920906112470. 2
920906112471. 3
920906112472. 4

Question Number : 18 Question Id : 92090628460 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the next number in the given series :

17, 19, 23, 29, 31, 37,

(1) 40 (2) 42
(3) 41 (4) 43
Options :

920906112469. 1
920906112470. 2
920906112471. 3
920906112472. 4

Question Number : 19 Question Id : 92090628461 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a certain code language, if the word “PARTNER” is coded as OZQSMDQ, then
what is the code for the word “SEGMENT” in that language?

(1) TFHNFOU (2) RDFLDMS
(3) RDELDMS (4) RDFEDNS
Options :

920906112473. 1
920906112474. 2
920906112475. 3
920906112476. 4

Question Number : 19 Question Id : 92090628461 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In a certain code language, if the word “PARTNER” is coded as OZQSMDQ, then
what is the code for the word “SEGMENT” in that language?

(1) TFHNFOU (2) RDFLDMS
(3) RDELDMS (4) RDFEDNS
Options :

920906112473. 1
920906112474. 2
920906112475. 3
920906112476. 4

Question Number : 20 Question Id : 92090628462 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the time between 4 and 5 O’ clock at which the minute hand and the hour hand
are perpendicular to each other.

(1) 27 % minutes past 4 (2) 36 % minutes past 4
2 - "
(3) a8 1 minutes past 4 (4) 27 1 minutes past 5
Options :

920906112477. 1
920906112478. 2
920906112479. 3
920906112480. 4

Question Number : 20 Question Id : 92090628462 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the time between 4 and 5 O’ clock at which the minute hand and the hour hand
are perpendicular to each other.

(1) 27 % minutes past 4 (2) 36 % minutes past 4
2 -
(3) 38 ﬁ minutes past 4 {4) 2T ﬁ minutes past 5

Options :
920906112477. 1



920906112478. 2
920906112479. 3
920906112480. 4

Question Number : 21 Question Id : 92090628463 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The headquarter of the Board of Control for Cricket in India (BCCI) i1s located in

(1) Mumbai (2) Bengaluru
(3) Kolkata (4) Delhi
Options :

920906112481. 1
920906112482. 2
920906112483. 3
920906112484. 4

Question Number : 21 Question Id : 92090628463 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The headquarter of the Board of Control for Cricket in India (BCCI) is located in

(1) Mumbai (2) Bengaluru
(3) Kolkata (4) Delh:
Options :

920906112481. 1
920906112482. 2
920906112483. 3
920906112484. 4

Question Number : 22 Question Id : 92090628464 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 11 :

List I List II
(Major News Paper of the World) (Country)
(A) The Age () India
(B) The Gazette (I1) Australia
(C) The Press (II1) New Zealand
(D) The Tribune (IV) Canada

Choose the correct answer from the options given below:

() (A)-D, (B)-(IV), (C)-(111), (D)-(T)
(2)  (A)-IV), (B)-dD, (O)-(1D, (D)-()
(3)  (A)-(D), (B)-AV), (C)-(I1I), (D)-(1)
(4)  (A)-(D, (B)-AV), (C)-(I), (D)-(ILI)

Options :

920906112485. 1
920906112486. 2
920906112487. 3
920906112488. 4

Question Number : 22 Question Id : 92090628464 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I :

List I List I1
(Major News Paper of the World) (Country)
(A) The Age (1) India
(B) The Gazette (IT) Australia
(C) The Press (IIT) New Zealand
(D) The Tribune (IV) Canada

Choose the correct answer from the options given below:

(1) (A)-D), (B)-(IV), (C)-(II), (D)-(II)
(2)  (A)-AV), (B)-aD), (C)-(I1I), (D)-(1)
(3)  (A)-ID), (B)-(IV), (O)-11D), (D)-(D)
(4 (A)-ID), (B)-(IV), (O)-(D), (D)-(1I)

Options :



920906112485. 1
920906112486. 2
920906112487. 3
920906112488. 4

Question Number : 23 Question Id : 92090628465 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements -

Statement I  : ‘Vienna’ is the capital of ‘Australia’

Statement [ : ‘Euro’ is the currency of ‘Australia’

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement I and Statement Il are correct
(2) Both Statement I and Statement Il are incorrect
(3) Statement I is correct but Statement I1 is incorrect

(4) Statement [ is incorrect but Statement 11 is correct

Options :

920906112489. 1
920906112490. 2
920906112491. 3
920906112492. 4

Question Number : 23 Question Id : 92090628465 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : ‘Vienna’ is the capital of ‘Australia’

Statement II : ‘Euro’ is the currency of ‘Australia’

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement Il are incorrect
(3) Statement I 15 correct but Statement II 1s incorrect

(4) Statement [ is incorrect but Statement 11 is correct

Options :

920906112489. 1
920906112490. 2
920906112491. 3
920906112492 4

Question Number : 24 Question Id : 92090628466 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An electric fan and a heater are marked 100 W, 220V and 1000W, 220V respectively.
The resistance of the heater 1s

(1) Zero (2) Greater than that of the fan
(3)  Lesser than that of the fan (4) Equal to that of the fan
Options :

920906112493. 1
920906112494. 2
920906112495. 3
920906112496. 4

Question Number : 24 Question Id : 92090628466 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



An electric fan and a heater are marked 100 W, 220V and 1000W, 220V respectively.
The resistance of the heater is

(1) Zero (2) Greater than that of the fan
(3)  Lesser than that of the fan (4) Equal to that of the fan
Options :

920906112493. 1
920906112494. 2
920906112495. 3
920906112496. 4

Question Number : 25 Question Id : 92090628467 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List 11 -

List 1 Last 11
(Author) (Book)
(A) Amartya Sen (I) 1IDare, As1 See
(B) Kiran Bedi (I) Death of a City
(C) Malala Yousafzai (II1) Development as Freedom
(D) Amrita Pritam (IV) We are displaced

Choose the correct answer from the options given below:

(1) Q)-(0). (B)-(I), (C)-(1I), (D)-(IV)
(2)  (A)-ID, (B)-(D), (C)-(IV), (D)-(1I)
(3) (A, (B)-(I), (O)-(ID), (D)-(IV)
(4)  (A)-(D), (B)-(I1I), (C)-(IV), (D)-(IT)

Options :

920906112497. 1
920906112498. 2
920906112499. 3
920906112500. 4

Question Number : 25 Question Id : 92090628467 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 11 :

List I List 11
(Author) (Book)
(A) Amartya Sen (I) 1IDare, As I See
(B) Kiran Bedi (I) Death of a City
(C) Malala Yousafzai (III) Development as Freedom
(D) Amrita Pritam (IV) We are displaced

Choose the correct answer from the options given below:

1) A)-), (B)-(11), (O)-(D), (D)-(IV)
(2)  (A)-aID, (B)-(D), (C)-(IV), (D)-1D)
(3)  (A)-(1D), (B)-(D), (C)-(II), (D)-(IV)
(1) (A)-(D, (B)-(I1L), (C)-AV), (D)-(II)

Options :

920906112497. 1
920906112498. 2
920906112499. 3
920906112500. 4

Part B: Life Science

Section Id : 920906564
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906912
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090628468 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Molecular absorption spectroscopy based on electromagnetic radiation in the
wavelength region of —

(M 190 - 800 nm (2) 190-800 nm
(3) 1000 — 1500 nm (4) 1000 - 2000 nm
Options :

920906112501. 1
920906112502. 2
920906112503. 3
920906112504. 4

Question Number : 26 Question Id : 92090628468 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3fUges Saximu WaeH saaegras fafdu W snufa gar € aur 3u@! avrged
e e A g e -

(1) 190 — 800 nm (2) 190 -800 nm
(3) 1000 — 1500 nm (4) 1000 - 2000 nm
Options :

920906112501. 1
920906112502. 2
920906112503. 3
920906112504. 4

Question Number : 27 Question Id : 92090628469 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The dye used for visualization of DNA or RNA in agarose gel is —

(1) Ethidium borate (2) Ethidium oxide
(3) Ethidium bromide (4) Ethidium chloride
Options :

920906112505. 1
920906112506. 2
920906112507. 3
920906112508. 4



Question Number : 27 Question Id : 92090628469 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3TRIS S 7 DNA T RNA P 3T ¥ WG 190 & -

(1) siidgrdane (2) siAfgan siiqass
(3) shfsgnsmes 4) shufean wREe
Options :

920906112505. 1
920906112506. 2
920906112507. 3
920906112508. 4

Question Number : 28 Question Id : 92090628470 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The annealing temperature during the PCR reaction should be -

(1) 45 - 98°C (2) 45-65°C
(3) 45 -90°C (4) 30-90°C
Options :

920906112509. 1
920906112510. 2
920906112511. 3
920906112512. 4

Question Number : 28 Question Id : 92090628470 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PCR o ® arur=ia ama g & =gl -

(1) 45-98°C (2) 45-65°C

(3) 45 - 90°C (4) 30-90°C
Options :

920906112509. 1
920906112510. 2
920906112511. 3



920906112512. 4

Question Number : 29 Question Id : 92090628471 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Size exclusion chromatography is used to separate the proteins on the basis of

(1)  size (2) temperature
(3)  net binding specificity (4) net charge
Options :

920906112513. 1
920906112514. 2
920906112515. 3
920906112516. 4

Question Number : 29 Question Id : 92090628471 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S{THIY 3ol quicra- | WIEH &1 g & aryR W sre far o g

(1) S{THTY (2) dIIHE
(3) Hod sy A (4) Hhd AG™
Options :

920906112513. 1
920906112514. 2
920906112515. 3
920906112516. 4

Question Number : 30 Question Id : 92090628472 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In complement systems which is not the example of anaphylatoxins —

(1) Cas (2) Cao
3y G (4) Ceo
Options :

920906112517. 1



920906112518. 2
920906112519. 3
920906112520. 4

Question Number : 30 Question Id : 92090628472 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a8 W@ dd ofl CATBIaIelas &1 3aTevl 8] 87

(1) Cas (2) Cas

(3) C7 (4) Css
Options :

920906112517. 1
920906112518. 2
920906112519. 3
920906112520. 4

Question Number : 31 Question Id : 92090628473 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What are anti-isotype antibodies?

(1)  directed against antigenic determinants of particular antigen combining site
of a particular antibody

(2)  directed against antigenic determinants that are allele specific

(3)  directed again determinant present on variable region of light chain class of
antibody

(4)  directed against determinants present on constant region of a particular
heavy or light chain class of antibody, but not on any of the others

Options :

920906112521. 1
920906112522. 2
920906112523. 3
920906112524. 4

Question Number : 31 Question Id : 92090628473 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ufa Ty ufcrel Fa1 giar 82

(1) T ufrel & ARy uftem a=MA 9ae W Ry ufier fEexfiFe & uf Fefa
(2) Udid faf3w ufdeH feefiFe & ufa gk
3) ufcRel & ged! Jaa 3 & uRad &7 R Jufd feexfire & ufd AeRa

(4) ufcRel a1 fafRw Uil a1 gebt HEdr a7 & RR &3 R [¥yd fgexfFe & ufa
AEfRra feeht s & ufa =18t

Options :

920906112521. 1
920906112522. 2
920906112523. 3
920906112524. 4

Question Number : 32 Question Id : 92090628474 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which molecule does not take part in inflammatory response?

(1) Dopamine (2) Prostaglandin
(3) Thromboxane (4) Leukotrienes
Options :

920906112525. 1
920906112526. 2
920906112527. 3
920906112528. 4

Question Number : 32 Question Id : 92090628474 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S 7 U] NS S & wimfid 78 g 22

(1) S (2) URewdisA
(3)  UraEaE (4) PleEA
Options :

920906112525. 1
920906112526. 2



920906112527. 3
920906112528. 4

Question Number : 33 Question Id : 92090628475 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Varicella Zoster vaccine is administered for

(1)  Hepatitis B virus (2) Small pox virus
(3) Chicken pox virus (4) Polio virus
Options :

920906112529. 1
920906112530. 2
920906112531. 3
920906112532. 4

Question Number : 33 Question Id : 92090628475 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

af8e e &1 A1 4 g femn eman @ -

(1) Teuersfey g fauny (2) I Uiy faumy
(3) [ gl fauny (4) diferar fasmop
Options :

920906112529. 1
920906112530. 2
920906112531. 3
920906112532. 4

Question Number : 34 Question Id : 92090628476 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which microbe is not capable of degrading petroleum hydrocarbons:

(1)  Candida (2) Achromobacter
(3) Pseudomonas (4) Aspergillus



Options :

920906112533. 1
920906112534. 2
920906112535. 3
920906112536. 4

Question Number : 34 Question Id : 92090628476 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

D P YeHsla USIerad gI3gldle- & Uee- A W g o?

(1 &S (2) UdbHEE
(3) HYIHHEN (4) TERRIEH
Options :

920906112533. 1
920906112534. 2
920906112535. 3
920906112536. 4

Question Number : 35 Question Id : 92090628477 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Prokaryotic mRNAs contain a conserved polypurine tract, consensus AGGAGG,
located about seven nucleotides upstream from the AUG initiation codon. This
conserved hexamer is called

(M Kozak's sequences (2) Shine-Dalgano sequences
(3) Consensus sequences (4) TATA box sequences
Options :

920906112537. 1
920906112538. 2
920906112539. 3
920906112540. 4

Question Number : 35 Question Id : 92090628477 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WHREIeH mRNAs TRfed T 9 Ja9RTd AGGAGG BIdT 8, Wl AUG 3R
ﬁ@q?@ﬁmﬁmmm?mﬁsﬁm%t%m%ﬂm
FHead o |

(1)  BIelD HIhH (2) S-S 3hH
(3) HAHHd 3HIHH (4) TATA SIdH 3{HH
Options :

920906112537. 1
920906112538. 2
920906112539. 3
920906112540. 4

Question Number : 36 Question Id : 92090628478 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which type of enzyme in known to remove methyl or ethyl groups from Guanine
bases that have been mutagenized by Alkylating agents?

(1) Photolyase (2) DNA N-glycosylases
(3) Alkyltransferase (4) AP endonuclease
Options :

920906112541. 1
920906112542. 2
920906112543. 3
920906112544. 4

Question Number : 36 Question Id : 92090628478 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T3 99 ¥ AfE a1 e §Hg &1 geH &1 $ HF 4 USR & TIH Idl 8
o] UehradinRull Uele gR1 Iaiafdd fawar e g2

(1)  Plerany (2) DNA N-TIHIHRd
3) Uchld by (4) AP USIgfdITH
Options :

920906112541. 1
920906112542. 2
920906112543. 3



920906112544. 4

Question Number : 37 Question Id : 92090628479 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Name the technique Mathew Mesalson and Franklin Stahl used to evidence that
DNA replication is 'semi conservative’

(1) Cesium Chloride (CsCl) density gradient centrifugation
(2) 2D Gel Electrophoresis

(3) Mass spectrometry

(4) DNA sequencing

Options :

920906112545. 1
920906112546. 2
920906112547. 3
920906112548. 4

Question Number : 37 Question Id : 92090628479 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g THaad aul o ¥Ied gRI Ugad 39 dd-id &I A9 gaist e gRI DNA
gfcid & ofef TReaft 8 STy e

(1) Toforgw saREs (Cscl) 99 Ufste siaah<su
(2) 2D 9d faggd &ur dgadd

(3) GouH WaeHfT

(4) ST SFIHHUT

Options :

920906112545. 1
920906112546. 2
920906112547. 3
920906112548. 4

Question Number : 38 Question Id : 92090628480 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Two highly inbred strains of mice, one with black fur and the other with gray fur were
crossed, and all of the F1 offsprings had black fur. Predict the phenotypic outcome of
intercrossing the Fy offsprings.

(1) All have black fur (2) All have Gray fur
(3) 2 black fur : 2 Gray fur (4) 3 black fur: 1 Gray fur
Options :

920906112549. 1
920906112550. 2
920906112551. 3
920906112552. 4

Question Number : 38 Question Id : 92090628480 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g &I 4 I 3id: USTd ¥ [ Uh BTl B BT dUT G T B & YI, BT B0
B W Fy Jdfd 7 gl Ig S0 B F 91 F; Tadfd & g1 &1 30" H YHI0 FIH W
Hdfd & WU BT 3HTehai Dy :

(1) gt 4 &reft wr gl ) 9 A9 Eri
(3) 2ol & AR 2 AT & gl (4) 3 Il B P 3R 1 T B BT BRT
Options :

920906112549. 1
920906112550. 2
920906112551. 3
920906112552. 4

Question Number : 39 Question Id : 92090628481 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many number of autosomal linkage groups have human somatic cells?

(1) 23 (2) 22
(3) 24 4) 1
Options :

920906112553. 1
920906112554. 2
920906112555. 3



920906112556. 4

Question Number : 39 Question Id : 92090628481 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HFG SIS SRRt # sicHmd Rids ayg! o 9 &1 g7

22 2y 22
(3) 24 (4) 1
Options :

920906112553. 1
920906112554. 2
920906112555. 3
920906112556. 4

Question Number : 40 Question Id : 92090628482 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In DNA microarray techniques consist of

(1) large number of ds DNA (2) large number of ss DNA
(3) small number of ss DMA (4) large number of ds DNA
Options :

920906112557. 1
920906112558. 2
920906112559. 3
920906112560. 4

Question Number : 40 Question Id : 92090628482 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DNA ATSHIR -] # gi & -

(1) ds DNA &1 9% H&=a1 (2) ss DNA &1 i =1
(3)  ss DNA &l &H 811 (4) ds DNA @1 3fftfe H&
Options :

920906112557. 1



920906112558. 2
920906112559. 3
920906112560. 4

Question Number : 41 Question Id : 92090628483 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Small circular DNAs such as plasmids and small viral DNAs when have no breaks in
either strand are referred as

4} Nucleosome (2) Close circular DNA
(3) Nicked DNA (4) Chromatid
Options :

920906112561. 1
920906112562. 2
920906112563. 3
920906112564. 4

Question Number : 41 Question Id : 92090628483 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bl DNA S WITeTS a1 @1 faumrdia DNa o &t oft € J #18 voH 78
gl 8, 98 Heard g

(1) gfeagrm (2) 49d g« DNA
(3) [¥sDNA 4) mmfes
Options :

920906112561. 1
920906112562. 2
920906112563. 3
920906112564. 4

Question Number : 42 Question Id : 92090628484 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Telomeres end with multiple repeated sequences of the pattern

(5 (Th Gy)n (5 (Ux Gy)n

D @yargn @ 3yangm
3) (5 (/nGy)n " (5 (In Gy)n

3)(4n G @ @y g
Options :

920906112565. 1
920906112566. 2
920906112567. 3
920906112568. 4

Question Number : 42 Question Id : 92090628484 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dgd 9 JRIgd 3IhH U ard sfaaves R g
i) (5 (Tn Gy)n & (5") (Ux Gy)n
(3" (Ax G)n 3" (An Gy)n
5 G)nGn (5") (In Gy)n
G @yngn @ @y gn
Options :

920906112565. 1
920906112566. 2
920906112567. 3
920906112568. 4

Question Number : 43 Question Id : 92090628485 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DNA binding proteins associated with bacterial chromosomes are :-

(1) HD and H5 (2) HUand H1
(3) HU and H6 (4) HZ and H1
Options :

920906112569. 1



920906112570. 2
920906112571. 3
920906112572. 4

Question Number : 43 Question Id : 92090628485 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1A U ¥ &G DNA SeFSRI UIEH §

(1)  HDTYIH5 (2) HU TYTH1
(3) HU Y H6 (4) HZ TUTH1
Options :

920906112569. 1
920906112570. 2
920906112571. 3
920906112572. 4

Question Number : 44 Question Id : 92090628486 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Eukaryotes have two major chromatin proteins in SMC family. They are

(1 Integrin and laminin

(2) Cohesins and condensin

(3) Hemoglobin and myoglobin
(4) Actin and myosin

Options :

920906112573. 1
920906112574. 2
920906112575. 3
920906112576. 4

Question Number : 44 Question Id : 92090628486 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SMC el & gahfdicd H 2 T pfeA U e g 1 A &

(1) s=RAau s (2) DRRE qu Fo~A
@3) fenArafa gur aefa (4) Uldes qur AraiRE
Options :

920906112573. 1
920906112574. 2
920906112575. 3
920906112576. 4

Question Number : 45 Question Id : 92090628487 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In general, a carbohydrate molecule with n chiral centre can have

(M 2n+2 sterecisomers (2) n-2 sterecisomers
(3) 2™ stereoisomers (4) 2" stereocisomers
Options :

920906112577. 1
920906112578. 2
920906112579. 3
920906112580. 4

Question Number : 45 Question Id : 92090628487 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WHAI n- PR $5 910l SlafeRee 30§ & Yhd 8

(1) 2n+2 B3fdw gaEgEl (2) n-2 Bf9H gaETd
(3) 22 3fEeH gHegd] (4) 2" 39w gAEgd
Options :

920906112577. 1
920906112578. 2
920906112579. 3
920906112580. 4



Question Number : 46 Question Id : 92090628488 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most stable structure for a random-sequence DNA molecule under physiological
conditions is

(M C form of DNA (2) A form of DNA
(3) Z form of DNA (4) B form of DNA
Options :

920906112581. 1
920906112582. 2
920906112583. 3
920906112584. 4

Question Number : 46 Question Id : 92090628488 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IRIRIHAT a1 H refasd S hH & DNA DI Tad WRd =1 8

(1) C-UdhX &l DNA (2) A-UdX Dl DNA
(3) Z-Uh 6] DNA (4) B-UDN Pl DNA
Options :

920906112581. 1
920906112582. 2
920906112583. 3
920906112584. 4

Question Number : 47 Question Id : 92090628489 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Porins are proteins found in gram-negative bacteria such as £ coli and allow
to cross the outer membrane

(1)  Amphipathic solutes (2) Hydrophobic solutes
(3) Nonpolar solutes (4) Polar solutes
Options :

920906112585. 1
920906112586. 2



920906112587. 3
920906112588. 4

Question Number : 47 Question Id : 92090628489 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U SFTE] A1) O £ co/f HUR OH dd ARAWIEH, _ 3{U[3f] &I a1l el
TRFACAE

(1)  IHTYAd (Trpiafye) faeg (2 S faeg

(3)  siydig faeg (4) ydia faca

Options :

920906112585. 1
920906112586. 2
920906112587. 3
920906112588. 4

Question Number : 48 Question Id : 92090628490 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the enzyme ATP synthase Fo domain is sensitive to

(1)  Oligophycin (2) Oligosaccharide
(3) Oligomycin (4) Oligonucleotide
Options :

920906112589. 1
920906112590. 2
920906112591. 3
920906112592. 4

Question Number : 48 Question Id : 92090628490 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TISH ATP Ri%eH W Fo S19H A9 & Ui Wad! gan gl

(1) SfereERE (2) SiferEegs
(3) 3ferimmafiE (4) Shferi=gfaasiegs



Options :

920906112589. 1
920906112590. 2
920906112591. 3
920906112592. 4

Question Number : 49 Question Id : 92090628491 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which is not the type of positively charged amino acid?

(1) Arginine (2) Histidine
(3)  Asparagine (4) Lysine
Options :

920906112593. 1
920906112594. 2
920906112595. 3
920906112596. 4

Question Number : 49 Question Id : 92090628491 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I W1 ST ATIY T THHT 37 BT 38180 T8l 6 2

(1) SRNEE 2) BEEA
(3) UERfeH (4) wrHH
Options :

920906112593. 1
920906112594. 2
920906112595. 3
920906112596. 4

Question Number : 50 Question Id : 92090628492 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In most higher eukaryotes, the fatty acid synthesis occurs in cytosol, but in plants it
occurs in

(1)  cytosol (2) endoplasmic reticulum
(3) mitochondria (4) chloroplast
Options :

920906112597. 1
920906112598. 2
920906112599. 3
920906112600. 4

Question Number : 50 Question Id : 92090628492 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@mﬁwmwwmﬂm%mmﬁ%mﬂ
g

(1) HIserEd (2) USTanieie WEagad
(3) Wbl (4) FARGRE
Options :

920906112597. 1
920906112598. 2
920906112599. 3
920906112600. 4

Question Number : 51 Question Id : 92090628493 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When the bacterium Agrobacterium tumefaciens comes in contact with damaged
plant cell, the segment of Ti plasmid called T-DNA is transferred from plasmid and
integrated at a random position in one of the plant cell chromosomes. The size of
T-DNA is

(1) 80,000 bp (2) 40,000 bp
(3) 23,000 bp (4) 50,000 bp
Options :

920906112601. 1
920906112602. 2



920906112603. 3
920906112604. 4

Question Number : 51 Question Id : 92090628493 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ulg Gﬁﬁﬁ] Agrobacterium tumefaciens gfcired urey HIfda1 & qud H arEr %,
dl Ti WIS &1 T-DNA AHS T WIS A YIFARd id urey $Ifrea! Joea #
refesed RIF U TAfEHd 81 ST g | T-DNA &1 HU § |

(M 80,000 bp (2) 40,000 bp
(3) 23,000 bp (4) 50,000 bp
Options :

920906112601. 1
920906112602. 2
920906112603. 3
920906112604. 4

Question Number : 52 Question Id : 92090628494 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The completed sequence of the human genome was published in

(1) 2020 (2) 2003
(3) 2006 (4) 2010
Options :

920906112605. 1
920906112606. 2
920906112607. 3
920906112608. 4

Question Number : 52 Question Id : 92090628494 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TG ST &1 QR0 3shH fbd a8 § UehIRrd g1 4T?

(1) 2020 (2) 2003
(3) 2006 (4) 2010
Options :

920906112605. 1
920906112606. 2
920906112607. 3
920906112608. 4

Question Number : 53 Question Id : 92090628495 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Plasmids are circular DNA. Naturally occurring bacterial plasmids range in size from

(M 5,000 to 4,00,000 bp (2) 50,000 to 4,00,000 bp
(3) 50,000 to 4,00,000 bp (4) 5,000 to 4,00,000 bp
Options :

920906112609. 1
920906112610. 2
920906112611. 3
920906112612. 4

Question Number : 53 Question Id : 92090628495 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WIS g DNA B | P S A YA TH I S @S ST Mg &
R H gIdT g

(1) 5,000 to 4,00,000 bp (2) 50,000 to 4,00,000 bp
(3) 50,000 to 4,00,000 bp (4) 5,000 to 4,00,000 bp
Options :

920906112609. 1
920906112610. 2
920906112611. 3
920906112612. 4



Question Number : 54 Question Id : 92090628496 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Gene expression can not be analyzed using this technique

(N DNA fingerprinting (2) Fluorescence in situ hybridization
(3) RT-PCR (4) DNA microarray
Options :

920906112613. 1
920906112614. 2
920906112615. 3
920906112616. 4

Question Number : 54 Question Id : 92090628496 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

St nfieafad o1 fawerr Ay fafd gy gt foran o w&ar g

(1)  DNA fthRfufe (2) TR T R GH0
(3) RT-PCR (4) DNA HIZHITY
Options :

920906112613. 1
920906112614. 2
920906112615. 3
920906112616. 4

Question Number : 55 Question Id : 92090628497 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most efficient and widely used methods for transforming animal cells rely on

(1) BAC (2) Liposomes or viral vectors
(3) Plasmids (4) Agrobacterium tumefaciens
Options :

920906112617. 1
920906112618. 2
920906112619. 3



920906112620. 4

Question Number : 55 Question Id : 92090628497 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ol HIfRHT & FuiaRor 7 Fad YeH IY1 dgyafed faft g 1

(1)  BAC (2) TS T faur daex
@) @i (@) THeFIRTH gHIBIRITT
Options :

920906112617. 1
920906112618. 2
920906112619. 3
920906112620. 4

Question Number : 56 Question Id : 92090628498 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following phase(s) in bryophytes is/are found freely in nature

(1)  Gametophytic phase

(2)  Sporophytic phase

(3)  Saprophytic phase

(4)  Gametophytic and sporophytic phase

Options :

920906112621. 1
920906112622. 2
920906112623. 3
920906112624. 4

Question Number : 56 Question Id : 92090628498 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SraTEIge 7 9 uraw uefa # ga9d ¥u 9§ urdt ordt 8

(1)  FHBIGHG Haw

(2) dISuEgitg uraw

(3)  HUTS! AR

(4) gWSIEHG qul AR iHg waw gHi
Options :

920906112621. 1
920906112622. 2
920906112623. 3
920906112624. 4

Question Number : 57 Question Id : 92090628499 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following plant has rhizophore?

(1) Marsilea (2) Selaginella
(3) Equisetum (4) Rhynia
Options :

920906112625. 1
920906112626. 2
920906112627. 3
920906112628. 4

Question Number : 57 Question Id : 92090628499 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

449 urey # ASSHR urdl Sl g

1) Hferar () facfoer
(3) Sy 4) T
Options :

920906112625. 1
920906112626. 2
920906112627. 3



920906112628. 4

Question Number : 58 Question Id : 92090628500 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Vascular bundles in monocot plants are

(1 Arranged in rings
(2) Arranged in steler region
(3) Scattered in steler region

(4) Closed and scattered in steler region

Options :

920906112629. 1
920906112630. 2
920906112631. 3
920906112632. 4

Question Number : 58 Question Id : 92090628500 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

USdrOEl gyl & Hag-i U 8id ©

(1) g4 ¥ Hafed (2) &3 § sgateyd

3) WeAHfeEI g (4) HId dur I &3 7 fal gU
Options :

920906112629. 1
920906112630. 2
920906112631. 3
920906112632. 4

Question Number : 59 Question Id : 92090628501 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Turpentine which is an oleo — resin is obtained from

(1) Pinus (2) Abies
(3) Gingo (4) Cycas
Options :

920906112633. 1
920906112634. 2
920906112635. 3
920906112636. 4

Question Number : 59 Question Id : 92090628501 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eeTg ol U Sfiferaied = g, g 9 urd fopan oran @

(1  TETy (2 Ufay
(3) st 4) TEHY
Options :

920906112633. 1
920906112634. 2
920906112635. 3
920906112636. 4

Question Number : 60 Question Id : 92090628502 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Protochordates are included under chordates by the presence of

(1) Nerve chord (2) Notochord
(3) Nerves (4) Vertebral column
Options :

920906112637. 1
920906112638. 2
920906112639. 3
920906112640. 4



Question Number : 60 Question Id : 92090628502 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ueidise ® Blsel # A9 &t Iuffd & RO WEl il 8

(1) dE®ITS 2 U¥ I
(3) dfEer (4) HUSD qUS
Options :

920906112637. 1
920906112638. 2
920906112639. 3
920906112640. 4

Question Number : 61 Question Id : 92090628503 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Scaly anteaters are included under

(1) Eutheria (2) Prototheria
(3) Metatheria (4) Insectivora
Options :

920906112641. 1
920906112642. 2
920906112643. 3
920906112644. 4

Question Number : 61 Question Id : 92090628503 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yeah! dICRER (TT3eR) B 79 | T@1 ol 8

(1) gt 2) urerafer
(3) Hendfar 4) SAfGeaRT
Options :

920906112641. 1
920906112642. 2
920906112643. 3



920906112644. 4

Question Number : 62 Question Id : 92090628504 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hormones are released in

(1) Lumen of endocrine gland (2) Blood
(3) Outside the endocrine gland (4) Blood cells
Options :

920906112645. 1
920906112646. 2
920906112647. 3
920906112648. 4

Question Number : 62 Question Id : 92090628504 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el WA ga &

(1) Siardfd 9fY & gaa | (2 I
(3)  Sic:¥Erdi Uiy & aer (4) o BRSBTS
Options :

920906112645. 1
920906112646. 2
920906112647. 3
920906112648. 4

Question Number : 63 Question Id : 92090628505 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Nerve impulse in a neuron travels in

(M one direction (2) two directions

(3) multidirections (4) from cyton to axon

Options :



920906112649. 1
920906112650. 2
920906112651. 3
920906112652. 4

Question Number : 63 Question Id : 92090628505 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R A BT 313 1 vaTe gl g

(1) Usf=m#A 2) fgfzmsid
(3) dgfeumsid (4) A Y URH H
Options :

920906112649. 1
920906112650. 2
920906112651. 3
920906112652. 4

Question Number : 64 Question Id : 92090628506 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Catract of human eye defect refers to

(M Shrinkage of eye lens
(2) Wrinkling of eye lens
(3) Denaturation of protein in eye lens

(4)  Denaturation of crystalline protein of eye lens

Options :

920906112653. 1
920906112654. 2
920906112655. 3
920906112656. 4

Question Number : 64 Question Id : 92090628506 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A4 2P & AR Hevae ¥ g g

(1) i & 0" &1 gpe

(2 SE®dgAFgH TS

(3) oifE & @9 | UidH &1 fasfaga

4) offg & T & fpedq uidH &1 fagfaga

Options :

920906112653. 1
920906112654. 2
920906112655. 3
920906112656. 4

Question Number : 65 Question Id : 92090628507 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Water from digested food in absorbed from

(1) lllium (2) Large intestine
(3) Duodenum (4) Stomach
Options :

920906112657. 1
920906112658. 2
920906112659. 3
920906112660. 4

Question Number : 65 Question Id : 92090628507 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gIfEd Hieid 9§ od &1 a9yl G

(1) gferH (2 wet 3=
(3 sge™ (4) SATHTY
Options :

920906112657. 1
920906112658. 2
920906112659. 3



920906112660. 4

Question Number : 66 Question Id : 92090628508 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the otheris
labelled as Reason (R).

Assertion (A): Telomeres are unique structures at the ends of linear
chromosomes. Telomeres are replicated by telomerase a
specialized polymerase that carries its own RNA template.

Reasons (R) : In lagging strand in prokaryotes, first an RNA primer is synthesized
by primase, like leading strand synthesis, DNA polymerase Ill binds
to RNA primer and adds deoxy ribonucleotides.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1 Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

920906112661. 1
920906112662. 2
920906112663. 3
920906112664. 4

Question Number : 66 Question Id : 92090628508 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e €1 YA AU TN §: U SHNHYA (Assertion A) S F9 T ferlad g dl gEv1 39D
R (Reason R) T EY fl';

AHUPYA A :  SiaEvs W ORET & 3fd 1 Rua ARy d@wamn gl 8 siqavs &1
yiagid Sy AW ARy gty gR1 gl & S 3{UA1 WY $
RNA ST0e 3@ 8l

DRUIR: WHREGeH # o €S I & T Uy s & a0 § Jauyd
RNA UTSER UISHY gRT YA 81d1 8, DNA GIeiHE 11l RNA UISHR 8
Sean fSREaYfdadics gy dlsd ¢l

SRIF HYA & el |, 1 U Mo faeedl § 9 92l I &1 999 Hiferg

(1)  ASJRRIFIGEIE ARR, A DI Hel ARS8

(2) ASIRRGH 8l €, 0idh R, A DI Hel AT el &
(3) AWEIE APIRTS LR

(4) AURITEIE AfPTRTLIT

Options :

920906112661. 1
920906112662. 2
920906112663. 3
920906112664. 4

Question Number : 67 Question Id : 92090628509 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  In preparatory phase of glycolysis phosphorylation of glucose takes
place and converts into glyaraldehyde-3-phosphate. Hexokinase
like many other kinases requires Mg™" for activity.

Reasons (R) : In payoff phase of glycolysis, under aerobic condition two
molecules of NADH are formed in cytosol along with two
molecules of pyruvate and two molecules of ATP.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1 Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A} is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

920906112665. 1
920906112666. 2
920906112667. 3
920906112668. 4

Question Number : 67 Question Id : 92090628509 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



12 3 FyA QUL §: U SHHFY (Assertion A) & U H farfad & 1 g1 396
DR (Reason Rjﬁmﬁ;

AMUPYTA :  TARHIIR DI YT IR H b BT BIBIRAIEI gib U8
-3- Hihbe ¥ gadl ol sdIPIe g Bl o §gd 9
BT & GAF U frar=iierdl g Mg** @1 MaXgHdl gld] ol

PRUIR : AEHIAEY $f U-34P (Id1g o) a1 §, gadig f&yfa § NADH &
2 U] TSR W §-1d 8 | 1Y B UISHde duT ATP & g1-al AU & Id g |

IRIFd HY & ATl H, A 35U 0 fawedi § ¥ gl I &1 994 Hiferg

(1) ASRREH UL € 3R, A DI &l AT &

2) ASRREAIUEE ABAR A T TEl oarEm A &
(3) AWEIE APTIRIG TSR

(4) AHSITEIE, AfBTRUE B

Options :

920906112665. 1
920906112666. 2
920906112667. 3
920906112668. 4

Question Number : 68 Question Id : 92090628510 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  Specific amino acids may be replaced individually by site directed
mutagenesis. This powerful approach to studying protein structure
and function changes the amino acid sequence of a protein by
altering the DNA sequence of cloned gene.

Reasons (R} : When suitably located restriction site A are not present in the
sequence to be altered, an approach called oligonucleotide-
directed mutagenesis can create a specific DNA sequence change.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1 Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

Options :

920906112669. 1
920906112670. 2
920906112671. 3
920906112672. 4

Question Number : 68 Question Id : 92090628510 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



411 3 HYA fAU TN §: UF NS (Assertion A) & U ¥ ferfad & a1 g1 396
SR (Reason R) HEUH;

AHYFYA A ;. WH FERM ey Qaiaded) & R a9 U ond &
qufdds €U 4 gedl ol Gddl & | WIEH S3EH1 aUl S Heqgd H- Bl
U8 Y db-1d W & THIAT 3% 3IHH H TS Sl & DNA &
3IehH B UREd S gRdd- Sl gl

FRUR: ofd S drdt SfepH § 3fd T 9 ¥ Rya YReaws wa 8 gl g a9
Afermgfdasierss MR HenHRM AHe HTH DNA 3 HH |
fafay uiada & 91 g1

SRIF $YA & el |, 1 iU U [l § 9 el I &1 999 $iforg

(1)  AJARREH LI ¢ IR R, A D &l TS &

(2) ASRREH eI, AR, A I el AN 6] &
@) ATHE ABIRIS TR

4) ATEEE, Al R TE @

Options :

920906112669. 1
920906112670. 2
920906112671. 3
920906112672. 4

Question Number : 69 Question Id : 92090628511 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A): The thylakoid reactions of photosynthesis take place in the
specialized internal membranes of chloroplast called thylacoids.

Reasons (R) : The end products of these thylakoid reactions are used for the
synthesis of sugars in the carbon fixation reactions.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(M Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

Options :

920906112673. 1
920906112674. 2
920906112675. 3
920906112676. 4

Question Number : 69 Question Id : 92090628511 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 3 HYA AU T §: U HHHYA (Assertion A) & ©U H farfed g a1 g¥R1 396
@R (Reason R) & ® Y fl';

HHFYT A : TP TN Bl YScidlgs bl TR i ARy siaite e
ford urgeisTs e Pel ofidl § IR U= gl &l

FRUIR : =1 UIgdHIgs fhanell & 3id ITe] 1 YN Hia- ddiwT fearaf
o wrehr3ff & STl 7 fhar |rar g

IR HYF & el H, i G M0 fawed § 9 "8l I &1 999 Sifoe
(1) ASRRGH UG ¢ SRR, A DI ol AT §

(2 ASIRREH UEE Al R A P el N T8l &

B ATHE AFTRIG TR

4 AURITEE APTRALT



Options :

920906112673. 1
920906112674. 2
920906112675. 3
920906112676. 4

Question Number : 70 Question Id : 92090628512 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the otheris
labelled as Reason (R).

Assertion (A) :  In a healthy body RBCs can live for several months or years.

Reasons (R) : RBC's are responsible for transportation of oxygen and some
amount of carbon dioxide also.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

Options :

920906112677. 1
920906112678. 2
920906112679. 3
920906112680. 4

Question Number : 70 Question Id : 92090628512 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 2 HYA 3T TN §: UF SHUHUA (Assertion A) & ¥U T foRad g f g1 39
R (Reason R) CESURS

AUBUT A . W IR T RBC 3 HEHI 3Ydl gy & silldd I8 Pl o

PRUR: RBC Ao & iUl 9ul $& A H CO, I @ ofF &1 ol d1d
Nl

IR HYF & AHelw H, A9 U 70 fawedl § 9 gl I &1 994 Sifou

(1)  ASIRRGH HEl € IR R, A Bl el AT 8

) ASRREH GE € AfPAR, A B USRS T8l &

3) AWEE APTIRIS TR

(4) AWSITEIE APTRITI

Options :

920906112677. 1
920906112678. 2
920906112679. 3
920906112680. 4

Question Number : 71 Question Id : 92090628513 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A): A hormone is a molecule that is released in one part of the body
but regulates the activity of cells in other parts of the body.

Reasons (R) : The circulating blood delivers hormones to cells throughout the
body.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (4)
(3) (A\) is correct but (R) is not correct

(4) (A\) is not correct but (R) is correct

Options :



920906112681. 1
920906112682. 2
920906112683. 3
920906112684. 4

Question Number : 71 Question Id : 92090628513 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 9 $UA U T §: U SHIHHYA (Assertion A) & U H fafed 8 ol g1 39&
&R (Reason R) ﬁmﬁ;

AHUHYT A :  THHA TS T 3] ¢ ol IR & U HAT 9 e & S € e
YRR & 3 HAT $I SIAS1S B b1 &1 FafEa e gl

PRUR: Y& UdTg & 91 g & ¥ YRR # UgaI &l gl
IRl YA & et |, A AU 7 fasedl § I 9gt IRk &1 99+ ifeie

(1) AS3RRIA TE E AR R, A DI el RS §

2) ASRRIFATEE AFAR A DI TS A el &
(3) AWEIE ABTRES TSR

4) ATEITIE APTRILE

Options :

920906112681. 1
920906112682. 2
920906112683. 3
920906112684. 4

Question Number : 72 Question Id : 92090628514 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  Phytochrome is most abundant in etiolated seedlings.

Reasons (R) : Most biochemical studies have been carried out on phytochrome
purified from non green tissues.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A\) is correct but (R) is not correct
4 (A\) is not correct but (R) is correct
Options :
920906112685. 1
920906112686. 2

920906112687. 3
920906112688. 4

Question Number : 72 Question Id : 92090628514 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

419 3 HYA U U §: UF MUY (Assertion A) & =0 H fafad § o1 g¥R1 I9&

N (Reason R) FEUH:;

AUPYTA : WIZHH sfednies Hiskiy migha Taifgal) & wartfe urn s 21

PRUR: HYFR SREEAS LA 3 WgTd BIZclHH HERka FHasl 4
e fag 7 2

I HYA & HTeid H, i AU 70 fabedl § T 98l IR &1 994 Sifoe

(1) A SIRREH gl € 3R R, A ®I 8l AT 8

) ASRREFITE E AfPBAR A DI Hel AT L &

3) ATEE AfFTRIG TR

4) ATEITIE APTRIL

Options :
920906112685. 1



920906112686. 2
920906112687. 3
920906112688. 4

Question Number : 73 Question Id : 92090628515 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct sequence of genome of different organisms in increasing order

A. Homo sapians

B. Escherichia coli

C. Drosophila melanogaster
D. Saccharomyces cerevisiae
E: Caenorhabditis elegans

Choose the correct answer from the options given below :

(1) ABCDE
(2) B,C,DEA
(3) B.D,EECA
(4) ED CBA

Options :

920906112689. 1
920906112690. 2
920906112691. 3
920906112692. 4

Question Number : 73 Question Id : 92090628515 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



faf¥r Sfidl 1 I S & Fed oA # orafyd B

A, EiHl dfgg

B. U¥Rifaar #iarg

C. S AaTimRey
D. dBHIEuT Gl
. RAReSERY velilg

1 feu U fawedi # § Ugl 3T &1 9094 Dl :

(1) ABCDE
(2) B.C,DEA
(3) B.D.ECA
(4 EDCBA
Options :
920906112689. 1
920906112690. 2

920906112691. 3
920906112692. 4

Question Number : 74 Question Id : 92090628516 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct sequence of protein components of mitochondrial electron
transfer chain.

A. Succinate dehydrogenase
B. Cytochrome oxidase

C. NADH dehydrogenase
D.

Ubiquinone Cytochrome C oxidoreductase

Choose the correct answer from the options given below :

(1) ABCD
2 DCBA
(33 CDAB

(4) CADB



Options :

920906112693. 1
920906112694. 2
920906112695. 3
920906112696. 4

Question Number : 74 Question Id : 92090628516 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HECIPISdd sude - RIFIGRU $Gdl # UIeH Uedhi & Ha! S-hH Pl 99 B

A edie fEeraihy
B. WHCKhIN HleH
C. NADH fsgrgsiforg

D. Yd®HHA HIZehH C AiigiResd
i feu U faswedi # § Ugl I &1 994 Difeid :

() ABCD

(2) D,C,BA

(3) C,D,AB

(4 CAD,B
Options :

920906112693. 1
920906112694. 2
920906112695. 3
920906112696. 4

Question Number : 75 Question Id : 92090628517 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correct sequence of the Southern blotting procedure, as applied to DNA
fingerprinting is

A. Incubation of nylon membrane with radiolabelled DNA probe.

B. Separation of digested DNA fragments by agarose gel electrophoresis.
. Denaturation of separated DNA and transfer to nylon membrane.

D. Exposure of X-ray film to membrane for analysis of results.

E; Digestion of chromosomal DNA with restriction endonucleases.

Choose the correct answer from the options given below :

(1) EDCBA
(2) E.B.CAD
(3) A BCDE
(4 ACBED

Options :

920906112697. 1
920906112698. 2
920906112699. 3
920906112700. 4

Question Number : 75 Question Id : 92090628517 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



DNA fiTRItfET # we sdlfden &1 agt o §

A. STidacs DNA Ui &1 Aai el 9T S

qiferd DNA ©US! &1 W Wid fdggd &0l Jaa gRT JUEho|
QY dd DNA F faFdig= ayr Arge f3red T R
fSrect! o1 gaR fihe & fog S umra R fazemor gq

E.  TUREA DNA &1 YaeaH Te-gfdaud gRI urEA

= fau T fasedi | | 98l IR 1 9894 DI ;

(1) ED CBA
(2) E.BCAD
(3) A B, CDE
(4) A CBED

O N W

Options :

920906112697. 1
920906112698. 2
920906112699. 3
920906112700. 4

Question Number : 76 Question Id : 92090628518 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correct sequence of intermediates formed in Calvin cycle is

A. 1,3-biphosphoglycerate
3-phosphoglycerate
Glyceraldehyde 3-phosphate
Ribulose 1,5-biphospahte

m o O m

Dihydroxy acetone phosphate

Choose the correct answer from the options given below :

(1) CAEDB
) D,BACE
3) EBDCA
4 ABCD,E

Options :

920906112701. 1
920906112702. 2
920906112703. 3
920906112704. 4

Question Number : 76 Question Id : 92090628518 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fca 9 | 999 916 Hegafdl &1 TEl THEH § ;

A, 13-SRHREBITRRE
B. 3-TIbIfieraRe

c. ericeggs-3-wiahe
D. Red™ 1, 5- SgHREGS

E. SI3eggial THIcH Blehe
1 feu U fawedi A 9 Ug! I &1 944 Hifeit :

(1) CAEDB
(2) D,BACE
(3) EBDCA
(4 ABCD,E

Options :

920906112701. 1
920906112702. 2
920906112703. 3
920906112704. 4

Question Number : 77 Question Id : 92090628519 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correct sequence of vertebrae arranged in a vertebral column in human is :

A. Sacral vertebrae

B. Lumbar vertebrae
C. Axis vertebrae

D. Thoracic Vertebrae
E. Atlas vertebrae

Choose the correct answer from the options given below :

(1) ECD,BA
(20 ABDCE
(3) D,BAEC
(4 BAECD

Options :

920906112705. 1
920906112706. 2
920906112707 3
920906112708. 4

Question Number : 77 Question Id : 92090628519 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HHq 3%e08 1 HIvHT 9 § afeyd gidl §

A UHId HUATH]
B. TR HUTHI

C. Uy H2eahl
D. URIYD HUTHI
E.  Uead S

419 fau U fasedi O 9 Hel 3T &1 9494 Difei

(1) ECD,BA
) ABDCE
(3) D,BAEC
(4 BAECD



Options :

920906112705. 1
920906112706. 2
920906112707. 3
920906112708. 4

Question Number : 78 Question Id : 92090628520 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

To obtain, a large no. of copies of DNA through PCR includes the following steps.

A. Double stranded DNA with known ends.
Separate chains by heating to 95°C.
Addition of heat tolerant —Tag polymerase and nucleotides and heat to 72°C.

Addition of Nucleotides to primer using single strand as template.

m o N o

Cool to allow primer to form hydrogen bonds with ends of target sequence.

Choose the correct answer from the options given below :

(1) ABDCE
(2) A BCDE
(3) A B ECD
(4) A B DEC

Options :

920906112709. 1
920906112710. 2
920906112711. 3
920906112712. 4

Question Number : 78 Question Id : 92090628520 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



PCR gRT (¥ W& # DNA R U 33 &g Uel &1 7 FE a1
A f5®S DNA RS RR I §

B.  SRgalisHl Bl 95°C TR TTH dich Sfeli] Al

C. dY gigw] ¢& UIeiiHd Ud Yfdadiergs &l i aur 720 @R 1 &A1
D. WS # Udd ¥ & THde & ¥4 § ITGN FP Jlaerdierss & sl
E. Ehfe 3@ & RRI R UM gRI gI3eled ¢ &9 gd 8Us] Bl

i fau U fawedi § 9 Hg1 I &1 994 Difere :

(1) ABDCE
(2 ABCD,E
(3) ABECD
4 A BDEC

Options :

920906112709. 1
920906112710. 2
920906112711. 3
920906112712. 4

Question Number : 79 Question Id : 92090628521 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The lytic cycle of Phage T4 has

A. Self-assemble of three different protein to form phage component.

B. T4 make attachment with specific surface protein through tail fibres.

C. Production of enzyme to damage bacterial cell wall.

D. Contraction of tail sheath, DNA enters into the cell leaving capsid outside.

E. Phage DNA directs production of phage protein and copies of phage genome

with the help of host and viral enzyme.

Choose the correct answer from the options given below :

(1) B,C,D.EA
(2) B,D AEC
(3) B,D,E A C
(4) B, C,ADE

Options :

920906112713. 1
920906112714. 2
920906112715. 3
920906112716. 4

Question Number : 79 Question Id : 92090628521 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1, fagSh (o) & ao T A ST § -
A dF fafE 0dH & W-agEgA A fadelt S aed - d € |

B. T.U®® dd® gRI Ay ¥dg WidH & |y dag glar sl
C. oitam Hiftre fiifd @ aifausd s34 & fo TogH 4 Jag gl e

D. g@&gﬁﬁﬁsaﬁq%mamqmﬁmmﬁﬁmﬁm
Hdl gl

. fagich St 1. ¢ wdie SR fwm GersA @t werdn ¥ fadist widH ud fageh
S @ ufadl & Iang &1 AR Har gl

1 feu 7o faswedi A § Ugl 3T &1 984 B :

(1) B,C.D,EA
(2) B,.D AEC
(3) B D E AL
(4) B.CADE

Options :

920906112713. 1
920906112714. 2
920906112715. 3
920906112716. 4

Question Number : 80 Question Id : 92090628522 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement|  : In total, only about 1.5% of Human DNA is coding or exon
DNA, carrying information for proteins or RNA products.
However, when the much larger introns are included in the
count, as much as 30% of the human genome consists of
genes.

Statement Il : DNA helicase is the enzyme, that increase or decrease the
extent of DNA underwinding and affect the linking number.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement |l are correct
(2) Both Statement | and Statement |l are incorrect
(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct

Options :

920906112717. 1
920906112718. 2
920906112719. 3
920906112720. 4

Question Number : 80 Question Id : 92090628522 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=9 ol HyA Ru e &:

@Y | : HId DNA &1 Fd THTHTT 1.5% DIFST 3{Udl TaH DNA § Sl UieiH 3fual
RNA 3dTEd & folE Ga1 &1 o ol ¢ | &9 3ffd §9 32 dI3< |
Hfvferd fhu Srd & ad JHd SiiFH § 30% b S8l 8 |

HUF Il DNA gfeihd U1 TSI ¢ Sf DNA & G- @] HEl &l 9 d dgl &l
HIH HIdl & ayl feifd 1 e &1 uHfad s 8|

JRIFd HY & i H, A fSu 70 faeedi § T et I &1 994 $iferg

(1) SYFIARNSHI IS

(2) YIRS AT §

(3) Y| HA g, Wi DU 1| ST &
(4) YT g, b YT 1T &

Options :

920906112717. 1
920906112718. 2
920906112719. 3
920906112720. 4

Question Number : 81 Question Id : 92090628523 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : Many species of biennials and pereannials are induced to
flower by low temperature exposure (0°C to 5°C) and the
process is called vernalization.

Statement Il : Vernalization elongates the vegetative period and induces
the plant to flower earlier.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

Options :



920906112721. 1
920906112722. 2
920906112723. 3
920906112724. 4

Question Number : 81 Question Id : 92090628523 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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920906112721. 1
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920906112724. 4
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement|  : Glycolysis involves a series of reactions carried out by group

of soluble enzymes located in both cytosol and plastid.

Statement Il : Pentose phosphate pathway is also located both in cytosol

and plastid.

In the light of the above statements, choose the correct answer from the options
given below :

(1)
(2)
3)
(4)

Options :

Both Statement | and Statement Il are correct
Both Statement | and Statement Il are incorrect
Statement | is correct but Statement Il is incorrect

Statement | is incorrect but Statement 1l is correct

920906112725. 1
920906112726. 2
920906112727. 3
920906112728. 4

Question Number : 82 Question Id : 92090628524 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

g sy Ru g
YA | - TarsEIerad § ud s &1 &1 g1d1 § & UgeEd Ul Wikes aFl

H IufRyd UeIIgH 94g gRI 49U 8Ia1 gl

FU || - U wiEke Uiyd H IEed dul wWifes aFi | g grar g |
IRad Y9 & 3Tdld ¥, 19 G e fasedi 4 9 98l IR &1 994 Sifow

(M
(2)
(3
4

Options :

FYT I AR 1 S T B

HY | 3R 11 3T A &

HYF | I 8, Afh FUF 1| 3T &
FU | 3T, APIHYT 11 T &

920906112725. 1



920906112726. 2
920906112727. 3
920906112728. 4

Question Number : 83 Question Id : 92090628525 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement| : Prions are not inactivated by temperature upto 90°C.

Statement Il : Prion infection is sensitive to radiation treatment.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

Options :

920906112729. 1
920906112730. 2
920906112731. 3
920906112732. 4

Question Number : 83 Question Id : 92090628525 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement| : lon exchange chromatography exploits differences in the sign and
magnitude of the net electric charge of proteins at a given pH.

Statement Il : In ion exchange chromatography, separation can be optimized by
gradually changing the pH and/or salt concentrations of the
mobile phase to create pH or salt gradient.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement |l are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect Statement Il is correct

Options :
920906112733. 1
920906112734. 2



920906112735. 3
920906112736. 4
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Given below are two statements:

Statement| : Chlorophylls 'a’ and ‘b’ are abundant on green plants and ‘c’,

‘d’ are found in some protists and cyanobacteria.

Statement Il : Carotenoids are found in all photosynthetic organisms and

are integral constituent of thylakoid membrane.

In the light of the above statements, choose the correct answer from the options
given below :

(1)
(2)
(3)
(4)

Both Statement | and Statement |l are correct
Both Statement | and Statement |l are incorrect
Statement | is correct but Statement |l is incorrect

Statement | is incorrect but Statement Il is correct

Options :

920906112737. 1
920906112738. 2
920906112739. 3
920906112740. 4

Question Number : 85 Question Id : 92090628527 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : Auxins have been used commercially for prevention of fruit
and leaf drop only.

Statement Il : In some plant species seedless fruit are produced with the
help of treatment of unpollinated flower with auxins.

In the light of the above statements, choose the correct answer from the options
given below :

(n Both Statement | and Statement |l are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement |l is false

4) Statement | is false but Statement Il is true

Options :

920906112741. 1
920906112742. 2
920906112743. 3
920906112744. 4

Question Number : 86 Question Id : 92090628528 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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920906112741. 1
920906112742. 2
920906112743. 3
920906112744. 4
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During protein synthesis, termination occurs.

A. Termination signal causing the polymerase to detach from the DNA and
release the transcript.

B. In eukaryotes polymerase-Ill transcribes a sequence AAGUAC.

C. Termination signal causing the polymerase to undetach from the DNA.

D. Termination signal causing the polymerase to detach from the RNA and

release the transcript.

E: In eukaryotes polymerase-ll transcribes a sequence AUGAAA.

Choose the correct answer from the options given below :

(1) A, B only
(2) A, C Donly
(3) A only

(4) A, B only



Options :

920906112745. 1
920906112746. 2
920906112747. 3
920906112748. 4

Question Number : 87 Question Id : 92090628529 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Which protein/s are present in neutrophil?

A. Collagenase
B. Leukotrienes
G Defensins

D. Cytokines

E. a-1 antitrypsin

Choose the correct answer from the options given below :

(1 A, B, Conly
(2) A, B, D, E only
(3) A, C, Eonly
(4) B, C, D, E only

Options :

920906112749. 1
920906112750. 2
920906112751. 3
920906112752. 4

Question Number : 88 Question Id : 92090628530 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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920906112751. 3
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Molecular techniques used for the identification of micro-organisms from
environmental samples includes

A. Metagenomics

B. CARD-FISH

e Denaturing gradient gel electrophoresis
D. ELISA

. Phylochips

Choose the correct answer from the options given below :

(M A, C,Donly
(2) A, D, E only
(3) A, C, E only
(4) A, B, Conly

Options :

920906112753. 1
920906112754. 2
920906112755. 3
920906112756. 4

Question Number : 89 Question Id : 92090628531 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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920906112753. 1
920906112754. 2
920906112755. 3
920906112756. 4
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Sieve-tube elements found in Angiosperms are

A. Sieve tube
P-protein present
P-protein absent

Sieve-plate

m o N o

Companion cells

Choose the correct answer from the options given below :

(1) A B,D,Eonly
(2) A CD,Eonly
(3) A, B, C D, Eonly
(4) A B Eonly



Options :

920906112757. 1
920906112758. 2
920906112759. 3
920906112760. 4

Question Number : 90 Question Id : 92090628532 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906112757. 1
920906112758. 2
920906112759. 3
920906112760. 4
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Following are associated with endocrine functioning of pituitary endocrine gland.

A. Pars convoluta
B. Pars intermedia
& Pars rodita

D. Pars nervosa

E. Pars distalis

Choose the correct answer from the options given below :

(1) B,D,E Aonly
(2) B, D Eonly

(3) A, B, C D, Eonly
(4) B,C D, Eonly

Options :

920906112761. 1
920906112762. 2
920906112763. 3
920906112764. 4

Question Number : 91 Question Id : 92090628533 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906112761. 1
920906112762. 2
920906112763. 3
920906112764. 4
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Microbes involved in biological fixation of nitrogen are

A Nitrosomonas
B. Azobacter
C. Pseudomonas
D. Anabaena
E. Rhizobium

Choose the correct answer from the options given below :

(1) A B,CEonly
(2) B, D, E only

(3) A, B, C D, Eonly
(4) A, B, D only



Options :

920906112765. 1
920906112766. 2
920906112767. 3
920906112768. 4

Question Number : 92 Question Id : 92090628534 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) &ddAB,CE
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(4) HAdA,B,D
Options :

920906112765. 1
920906112766. 2
920906112767. 3
920906112768. 4
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Choose the vertebrates from the given list.

A. Dog fish

B. Silver fish

G Anguilla

D. Devil fish

E. Hippocampus

Choose the correct answer from the options given below :

(1) A B, D Eonly
(2) A, B, C D,Eonly
(3) A, C, D, E only
(4) A, B, C E only

Options :

920906112769. 1
920906112770. 2
920906112771. 3
920906112772. 4

Question Number : 93 Question Id : 92090628535 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906112769. 1
920906112770. 2
920906112771. 3
920906112772. 4
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Correct Marks : 4 Wrong Marks : 1



Match List | with List Il

List | List Il
(A) Duchenne muscular () Short stature resulted by addition of
dystrophy chromosome 21
(B) Dystrophy Down (Il Deletion in chromosome
syndrome 5 resulted in small head.
(C) Chronic myelogenous (Il Loss of coordination due to the
leukemia absence of gene an X-chromosome
(D) Cridu chat (IV) Exchange of a large portion of

chromosome 22 with a small fragment
from a tip of chromosome 9

Choose the correct answer from the options given below:

(1) (&)=, (B)-(1), (C)-(ll), (D)-(IV)
(2) (A=), (B)-(1), (C)-(V), (D)-(I1)
(3)  (A)-(), (B)-(1), (©)-(IV), (D)-(1)
4) (A=), (B)-(1), (©)-(1, (D)-(IV)

Options :

920906112773. 1
920906112774. 2
920906112775. 3
920906112776. 4

Question Number : 94 Question Id : 92090628536 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1 (A)-(), (B)-(D), (C)-(I), (D)-(1V)
(2)  (A)-(I), (B)-(1), (©)-(1V), (D)-(1)
(3) (A, (B)-(1), (C)-(IV), (D)-0)
4 (A)-(n), (B)-(), (C)-(1), (D)-(1V)

Options :

920906112773. 1
920906112774. 2
920906112775. 3
920906112776. 4

Question Number : 95 Question Id : 92090628537 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
(A) Adeno virus (I)  Single stranded RNA virus with
6,000 nucleotide pairs
(B) Polio virus () Double stranded DNA virus with

35,000 nucleotide pairs

(C) Tobacco mosaic virus  (lll) Double stranded DNA virus with
4,500 nucleotide pairs

(D) Polyoma virus (IV) Single stranded RNA virus with
7,500 nucleotide pairs

Choose the correct answer from the options given below:

(1) A=), B)-(IV), (O-(1), (D)-(llN)
(2 (A)-(n), (B)-(1), (C)-(N), (D)-(IV)
(3 (A=), (B)-(1), (C)-(1), (D)-(1V)
4 (A=), (B)-(1). (C)-(IV), (D)-(1)

Options :

920906112777. 1
920906112778. 2
920906112779. 3
920906112780. 4

Question Number : 95 Question Id : 92090628537 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) (A=), (B)-(IV), (O-(1), (D)-(IN)
(2) (A=), (B)-(lIN), (C)-(1), (D)-(IV)
(3)  (A)-(m), (B)-(1), (C)-(In), (D)-(1V)
(4) (A1, (B)-(1), (C)-(1V), (D)-(l1)

Options :

920906112777. 1
920906112778. 2
920906112779. 3
920906112780. 4

Question Number : 96 Question Id : 92090628538 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
(A) Use of Hypoxanthine and thymidine () Immuno precipitation
(B) Characterization of (1) ELISPOT Assays

F-globulin serum proteins
(C) Formation of chemiluminescent product (1) Hybridoma

(D) Detection and quantification of number of (IV) ELISA
cells producing cytokines

Choose the correct answer from the options given below:

(1) (A=), (B)-(1V), (C)-(1). (D)-(I)
(2)  (A)-(n), (B)-(1), (C)-(IV), (D)-(In)
(3) (A=), (B)-(V), (C)-(), (D)-(1)
4) (A=), B)-(N), (C)-(1V), (D)-(lr)

Options :

920906112781. 1
920906112782. 2
920906112783. 3
920906112784. 4

Question Number : 96 Question Id : 92090628538 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 1 & Ty G 11 F1 B Hiforg

- G-
(A) BTEUSRIA ud ysEEE &1 udm () wfeReft srgamur
(B F TolIegeii WA WIEH &1 dafor foson (1)  ELISPOT 3{THTGA
€ P i< Iare &1 [t (1 BfESH

(D) WP~ Jdifdd H34 ardl HIHST - (Iv) ELISA
® =1 &1 UgdH Ud HETHS ATHa-

= fau 71 fasedi | 9 Hgl SR &1 984 S

(1) (A)-(n), (B)-(IV), (Q-(1), (D)-(11)
(2) (A, (B)-(1), (©)-(IV), (D)-(IN)
(3) (A, B)-(IV), (Q)-(I1), (D)-()
@) (A)-(n, (B)-(1), (O)-(1V), (D)-(ln)

Options :

920906112781. 1
920906112782. 2
920906112783. 3
920906112784. 4

Question Number : 97 Question Id : 92090628539 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il :

List | List II

(A) Marchantia ()  Capsule is polygonal
() Capsule is Pear-shaped, curved and asymmetrical
(C) Polytrichum () Capsule is bristle or Thornlike
(

(D) Funana

(B) Anthoceros

IV) Capsule is oval shaped

Choose the correct answer from the options given below:

(1 (A=, B)-(1), (C)-(ll), (D)-(IV)
(2) (A=), (B)-(1N), (C)-(IV), (D)-(lIN)
(3)  (A-(V), (B)-(l), (O)-(). (D)-(1)
4 (A-(), B)-(1), (O)-(), (D)-(IV)



Options :

920906112785. 1
920906112786. 2
920906112787. 3
920906112788. 4

Question Number : 97 Question Id : 92090628539 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 & 1y = 1 B e P

- gl
(A HPRET () FYA (HYH) dgys S g
(B) TR () T (&Y TRIUT- 3T, H1 dfshd Ud SRmfHd 8ia1 &
() idliersH () $YA @Y g ud Wi % FHE g €
(D) FEARE (V) $HA @YD), SSTHR E 8l

Hid fau e fawedi # | UEl I &1 994 Bl

(1 (A, (B)-(, (C)-(1, (D)-(IV)
(2)  (A)-(), B)-(), (O)-(IV), (D)-(lIN)
() (A)-(V), (B)-(l), (Q-(1), (D)-(1)
(4)  (A)-(m, B)-(1). ([©)-(), (D)-(V)

Options :

920906112785. 1
920906112786. 2
920906112787. 3
920906112788. 4

Question Number : 98 Question Id : 92090628540 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | (Phylum) List Il (Excretary organ)
(A) Platyhelminthes ()  Malpighian tubules
(B) Annelida () Nephridia
(C) Arthropoda ()  Flame cells
(D) Mollusca (IV) Feather like Gills

Choose the correct answer from the options given below:

(1 (A)-Q), B)-(), (Q-(IV), (D)-(lIT)

(2) (A=), (B)-(I), (C)-(1V), (D)-(1)

(3) (A=, (B)-(1), (C)-(), (D)-(IV)

4) (A=), (B)-(1), (C)-(IV), (D)-(1)
Options :

920906112789. 1
920906112790. 2
920906112791. 3
920906112792. 4

Question Number : 98 Question Id : 92090628540 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl | & 91y gt 1 &1 e Difone

- G-I
(A) Wielee=ig () Herdhh i
(B) TAIferST ) Afpfga
(C) SMUTTrST (1) SITe BRI
(D) IR (V) UE o gaH

i feu U fawedi § ¥ Ugl IR &1 994 Bl

(1 (A-. B)-(I), (C)-(1V), (D)-(IIN)
(2) (A=), (B)-(1), (C)-(IV), (D)-(1)
(3) (A, B)-(). (O-(). (D)-(1V)
4) (A, (B)-(), (C)-(1v), (D)-(1)

Options :



920906112789. 1
920906112790. 2
920906112791. 3
920906112792. 4

Question Number : 99 Question Id : 92090628541 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | List Il
(A) Megatively charged amino acid ()  Histidine
(B) Polar uncharged amino acid () Cysteine
(C) Aromatic amino acid (Ill) Aspartate
( (

D) Positively charged amino acid IV) Phenylalanine

Choose the correct answer from the options given below:

(1) (A)-(). (B)-(I), (C)-(), (D)-(1IV)
(2)  (A)-(V), (B)-(l), (C)-(1). (D)-(I)
(3) (A, B)-(IN), (C)-(1), (D)-(IV)
4)  (A)-(V). (B)-(ln), (C)-(1n), (D)-(1)

Options :

920906112793. 1
920906112794. 2
920906112795. 3
920906112796. 4

Question Number : 99 Question Id : 92090628541 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl | & Y gt 1 1 e $ifoie

gdl-| G-I
(A) THRIAS AR AT o () fREIEH
(B) ydusFRREARAI s () R
(€ WA O spa () TEReE
(D) ¢FTE® MARE URFI o (v) fohASd tarE

I feu U fawedi # § Ugl I &1 994 Hifel:

(1) (A=), (B)-(1), (O)-(1), (D)-(11)
(2)  (A)-(, (B)-(I), (C)-(I), (D)-(IN)
(3) (A=), (B)-(IN), (C)-(I1), (D)-(IN)
4) (A=), (B)-(1), (O)-(1), (D)-(11)

Options :

920906112793. 1
920906112794. 2
920906112795. 3
920906112796. 4

Question Number : 100 Question Id : 92090628542 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | List Il
(A) Stearic acid (' n-octadecanoic acid
(B) Palmitic acid (1) n-dodecanoic acid
(C) Myristic acid () n-tetradecanoic acid
(D) Lauri acid (IV) n-hexadecanoic acid

Choose the correct answer from the options given below:

(1) A=, B)-(1), (©)-(1), (D)-(IV)
(2) (A1), (B)-(I), (C)-(1), (D)-(IV)
(3) (&), B)-(1), (C)-(1), (D)-(IV)
4) (A0, (B)-(IV), (O)-(1lN), (D)-(I)

Options :



920906112797. 1
920906112798. 2
920906112799. 3
920906112800. 4

Question Number : 100 Question Id : 92090628542 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Il | & Ty gt | 1 e Fifo

gl A
(A) WP 3 ) n-3HEISHHIGH 3
(B) UrAfe® 3t (1) n-SledHES 3
€ HRE® s () n-CCTSPHIH 3w
(D) WIS 3 (V) n-eodl ShHISD T

= fau 7T fasedl | 9 Hel IR &1 984 St

(1) (A)-(), (B)-(1), (C)-(I), (D)-(IV)
(2 (A-), B)-I), (C)-(1), (D)-(IV)
(3) (A=), (B)-(1), (C)-(1), (D)-(IV)
@ (-0, (B)-(V), (C)-(In), (D)-(1)
Options :

920906112797. 1

920906112798. 2

920906112799. 3

920906112800. 4



